£ 1B Bk

Fofk AL BERE S EUH K4 iz AR PR Btk St HH
6m13 1 1016 1.4 Bk Ea NN N 2 EWIR ESE/NVAN N = %E 9/23
5m74 2 1010 1.0 =it kg (ISP 3 HEEA HALRRAR aF 8/3
5m53 3 1077 L2 HH BE filis K 2 EE FelElfla R FHi s fiiax 9/29
5mb2 4 1005 1.6 = EHEE WERT 4 fEHIR HALRR A A=F 8/3
om23 5 1043 -1.0 EH A¥ HALK 4 FKHER b Kk FLIR 6/23
5m22 6 1136 0.9 #BEE MiEM  HEALFPERY 1 HIRE HAkIc FIRT 5/18
5ml1 7 1019 L0 HF AR e b R 2 IR ABAIIE R IbE LSRR TN Mg B 7/6
4m94 8 1022 0.5 fexAK H& EISrNES 1 fa R PN H3F 10/12
4m80 9 1042 1.9 kg R HALK 4 RER Bl FLIR 6/23
4m75 10 1089 0.0 g £E il R 1 R i fo WL 0ge e /5 7/12



